l.experiment

Slunecnice 1 5.64 100 4.13 97 0.063 5.59
Helianthus 2 5.64 100 4,11 97 0.036 5.59
3 5.64 100 3.97 96 0.075 5.59
2.experiment
NO;.
E1[mV] |E2 [mV] ¢ [mmol.I"]  |n1-n2 Vvi[ml]  |V2[ml]

Slunecnice 1 210 211 100 96
Helianthus 2 210 211 100 95
3 210 211 100 94
Cas zaloZeni: 8:20

{ jedn.  Kalibrace
(mM) roztok KNC 0.075 0.15 0.3 0.6 0.9 1.2
(mV) 1.mereni 295 277 260 245 235 228
2.mereni 279 261 228
M 0.000075 0.00015 0.0003 0.0006 0.0009 0.0012
p(NO3) 4,125 3.824 3.523 3.222 3.046 2.921
mV 295 277 260 245 235 228
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